Name: .o Class: e

Independent Practice

Algebra Write an equation with a letter for the unknown.

Then solve.
|363 J |

3. What is the mass of two of these books?

363 + 363 =

4. The golf ball has a mass of 45 g.
What is the mass of the baseball?

190 45 =

5. What is the mass of one of these dominoes?

66 + =

Algebra Find each unknown.

6. M kilograms %X 9 = 63 kg The unknown is
7. 392 grams + B grams = 523 g The unknown is
8. 932 grams — B grams = 149 g The unknown is
9. 60 kilograms =~ B = 6 kg The unknown is
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